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Z B &8 AR 42 42 84 24.0 60.0 400
ZEE G wWE HR 40 37 77 14.0 63.0 300
31 B 55 37 36 73 9.0 64.0 200
44 B 2 45 39 84 20.0 64.0 100
54 MK HBX 36 40 76 10.0 66.0 100
61 BN & 41 37 78 11.0 67.0
717 RA Ri& 37 37 74 7.0 67.0 90
81 (EE ] 39 38 77 10.0 67.0
91z =K —& 40 45 85 17.0 68.0
101 [LH 1EBB 45 41 86 17.0 69.0 75
111z FH BE 41 41 82 12.0 70.0
124 BH BE 38 42 80 10.0 70.0
131z WH HE 46 43 89 19.0 70.0
144 2w - 45 47 92 22.0 70.0
151z mR 2% 45 49 94 24.0 70.0
161z BN i 43 38 81 10.0 71.0
174z PR 25h 36 39 75 3.0 72.0
181 BA B 40 41 81 9.0 72.0
191 TmH M 45 42 87 15.0 72.0
201 ZR T 40 42 82 10.0 72.0 60
211 5 W= 48 42 90 18.0 72.0
224 BA &EC 44 47 91 19.0 72.0
231 K#E BEE 53 48 101 29.0 72.0
244 B RAHS 41 39 80 7.0 73.0
2511 mR 18A 42 42 84 11.0 73.0
261 AN 44 43 87 14.0 73.0
2741 B B 41 45 86 13.0 73.0
281\ EZ A 44 46 90 17.0 73.0
291 B Z=R 42 47 89 16.0 73.0
301 AT s 53 51 104 31.0 73.0 60
311 M RE 39 38 77 3.0 74.0
321y =@ JAXx 39 39 78 4.0 74.0
331u TR ZE— 43 41 84 10.0 74.0
344y RE mK 50 44 94 20.0 74.0
351 BERE 46 47 93 19.0 74.0
361y ZE BN 45 50 95 21.0 74.0
3711 BH &8 42 38 80 5.0 75.0
381 HrE e 43 42 85 10.0 75.0
391y th HHA 44 42 86 11.0 75.0
4017 T HH 40 43 83 8.0 75.0 60
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411 FRH X 47 44 91 16.0 75.0
42107 i Fl5. 50 46 96 21.0 75.0
431 ka2 MBE 46 49 95 20.0 75.0
4410 2H FEA 46 42 88 12.0 76.0
450 PR M- 47 43 90 14.0 76.0
4617 M= Af 50 48 98 22.0 76.0
4717 RE EfE 44 48 92 16.0 76.0
481 N=IIN:Z 54 50 104 28.0 76.0
491 MOEE 45 42 87 10.0 77.0
501z B RX 43 45 88 11.0 77.0 60
511z B2 B 44 46 90 13.0 77.0
5211 b 41 47 88 11.0 77.0
531 Pl #w=E 46 48 94 17.0 77.0
5441 Bk BE 52 53 105 28.0 77.0
5517 BAR E 50 40 90 12.0 78.0
561 IR B 46 41 87 9.0 78.0
571 =B EBX 47 47 94 16.0 78.0
581 RE =i 48 50 98 20.0 78.0
591 INETR B 46 41 87 8.0 79.0
601 R e N 49 47 96 17.0 79.0 60
611z T B 47 47 94 15.0 79.0
621 He #X 42 50 92 13.0 79.0
631z Bl A 45 45 90 10.0 80.0
6417 AR MK 51 47 98 18.0 80.0
651 ME *® 48 48 96 16.0 80.0
661 R HiE 51 43 94 13.0 81.0
67141 =EH %7 52 51 103 22.0 81.0
681z =SH #E 46 44 90 8.0 82.0
691 T OE= 54 47 101 19.0 82.0
701u N 2 48 50 98 16.0 82.0 60
7114 X EH 47 47 94 11.0 83.0
7214 FE & 46 a7 93 10.0 83.0
7311 BAR FTA 49 48 97 13.0 84.0
7414 w|H BRE 45 48 93 8.0 85.0
7511 B = 53 47 100 14.0 86.0
761\u WE & 55 52 107 17.0 90.0
BBE AR 53)E 57 56 113 23.0 90.0 90
7811 HFAR —IL 50 56 106 10.0 96.0
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